S

N 7 Y
> 50
=

[\

S)

TANVd TOHLNOD

¢L8Ero



27

C
2/22/12

CONTROL PANEL

043812

022097
0H6680D
0H8030
0H7359
0D7178T
049313
0H7360
0H8029
0F5458
067165
0E6523
0G8058
0G7537
0C2174
0E3969
0G7714
0H4771A
0G7621
0G7621
0G7717
048850
0H7853
0G7445
0H6924C
0H6924D
0H4799
0E4261
0H4754E
0H4754F
0H4754J
0H4754M
0J3004
0J3005
0J3006
0J3007

006032-1

e e e e e e T L S S P N R IR NN U S N RN N CRYSURPE N Ol SO N )

WASHER LOCK M6-1/4

ASSY CNTRPROGRAMMED

SCREWHHFC M5-0.8X12 W/PATCH

BRACKET CUSTOMER CONNECT

FUSE, ATO TYPE 7.5AMP (BROWN)

NUT HEX M6 X 1.0 G8 YEL CHR

COVER CUSTOMER CONNECT

SCREWHHFC M6-1X12 8.8 W/PATCH
SCREWHHSP #10X3/8 HI-LO

SCREWHHC M4-0.7 X 25 SEMS

GROUND BAR

SCREW PPHM M3-0.5 X 16 SEMS

CB BRACKET CONTROL BOX

RELAY 12V 25A SPST

SCREW PPHM M3-0.5 X 30

ASSY PCB TRIP LED DISPLAY

CB 0015A 1P 120V S BQ1 LB (10KW, 15KW, 20KW)
SCREWHH HI-LO M4X10MM (10KW, 15KW, 20KW)
SCREWHH HI-LO M4X10MM (12KW)
SCREWREDUCED HH HI-LO M6X10MM

BLOCK TERM 5P0S 20A

TERM BLOCK 3P UL 12-20AWG

EYE HASP CNTRL PANEL

ASSY EXT CONTROL BOX (10KW, 15KW, 20KW)
ASSY EXT CONTROL BOX (12KW)

PLUG PLASTIC DOME 1/2"

OUTLET, 15A GFCI DUPLEX WHITE (10KW, 15KW, 20KW)
CB 0045A 2P 240V EW QC (10KW)

CB 0050A 2P 240V EW QC (12KW)

CB 0065A 2P 240V EW QC (15KW)

CB 0100A 2P 240V EW QC (20KW)

HARNESS 10KW (NOT SHOWN)

HARNESS 12KW (NOT SHOWN)

HARNESS 15KW (NOT SHOWN)

HARNESS 20KW (NOT SHOWN)



